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OR (3121a1)

A pipe contains an oil of specific gravity 0.8 . A
differential manometer connected at two points A
and B of the pipe shows a difference in mercury
level as 20 cm. Find the difference of pressure
head at two points.

foft widu § dd &1 yare 8 @1 @ e
faR¥rse 7oca 0.8 €1 39 UIsY & fag AR
B W U® A< Ydad <19 ATl AT Sl 8,
S IR @ dd &7 AR 20 Wilo B | AT
fegall & 419 <19 MY &1 AR | BN |

8.  Describe conditions of equilibrium of a floating
body with diagram. 6

fodl AR U 9¥g @ AT @ Al Bl
o TR vl @ |

OR (3121a1)

Obtain an expression for discharge through a
venturimeter.

Agifier @ e &1 2a9d urad o |

9. Derive Euler’s equation of motion of fluid and
hence obtain Bernaulli equation.

Tdl & Ydig ¥ AR THISRYT Y =ATYAT
Y qAT 3 el & GHIHT B YT N |
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Time : 3Hrs. Sem - IV / Ag. Engg.
Hyd. & F. Mechanics
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries 6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121an) (ii)

Differentiate between pipe flow and open channel
flow.

UIsY ¥ B4 9rd yars a1 gell 99« yars
# 3 9aIy |
(iii)
Differentiate between laminar flow and
turbulent flow. 4

AR yarg ud cxaygd< gdE H IR
9y |
OR (3121a1)
(iii)

Find pressure head and velocity head at a point
in a pipe if pressure and velocity at that point is
1 Mpa and 2m/sec. Water is flowing in pipe.

fedt vy & <9 e vg Qv I &1 HE
fadfl fag R oa & Afe 39 fag W I@
1 99T URbol dAT 9a18 a7 2 Hlo /o B | i)
gy # 9Tl &1 yqrg & & 2 |

Write difference between notch and weir.

919 U4 faar & = 3ax wse oY |

3 1611403

g3y § 49 @ 9drg 9 AR fea
UHR & <4 Bl AT B |

(31) argHsh Q19

(@) U <9

(|) IS <19

(]) OIS <14

The centre of pressure always lie ...............
centre of gravity of an immersed vertical
plane surface.

(a) Below

(b) Above

(c) Same as

(d)All of the above

Jed U 4 gaIg Tz Sl GHdA g
9 T4 dvs SHIAT SUD [ocd ba A
............... el 2 |

(|) 9919 dol WX

(?) Sugaa w+

If meta centre of a floating body lies above
centre of gravity it will be in -

(a) Unstable equilibrium

(b) Stable equilibrium

(c) Neutral equilibrium

(d) None of these

P.T.O
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Answer all Five Questions.

(xx) A device which converts the mechanical
energy into hydraulic energy is called.
(a) Turbine
(b) Pump
(c) Both (a) and (b)
(d) None of these

(xx) d8 SUYBNYT ol ifAd Holl Bl ssgiferd
Holl § dqeldl 8 ®el Sl @ |
(3r) e
()
(a) (a1) 3R (a) <=t
() 399 & dIs T8l

GROUPB

5x4=20

gl ufg 9 & SR < |

2.

Define specific weight and specific gravity of a
fluid. Find specific weight of an oil whose specific
gravity is 0.85.

fafdre wR @ik falkre o 31 aRwreT
for@ | fodt da &1 falre o 0.85 2,
al a1 faldrse 9R sia &Y |
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(vi)

(vii)

(vii)

(viii)

5 1611403

foft urgy ¥ yarg AR gar @ afe
YHfes G&AT BT d4149 8idl 2 |

(31) 4000 ¥ 3fer®

(d) 2000 & ®H

() 4000 & HH
(%) 2000 & 3rfered

The velocity of flow at vena Contracta is
(a) Zero

(b) Maximum

(¢) Minimum

(d) None of these

99T Ho dI YR YdIg 97 $T 719 shdl
2|

@) ™

(@) wE<m

(W) a4

(?) 379 A PIs 8

The head loss in friction in a pipe flow is
proportional to-

(a) Square of diameter of pipe

(b) Square o length of pipe

(c) Square of velocity of flow

(d) All of the above

P.T.O
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(xvi)

(xvii)

(xvii)

10 N4041
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(@) 0'42_g

VZ
() 033,

Which of the following is a velocity
measuring instrument-

(a) Manometer

(b) Venturimeter

(c) Notch

(d) Pitot tube

/=1 § 4 @19 a1 SUSHIT A HUA B
19 AT 2—

(a1) A=EfeR

@) d=g¥riex

GEIE]

(?) ficie <ga
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(x)

(xi)

(xi)

(xii)
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=1 o 9 @9 a1 e 9= @
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(31) ax=itell &1 gHiHRoT

(@) dadar o1 FHfier

() AT BT GBI

(2) Swdaa &

The ratio of inertia force to viscous force
is called.

(a) Reynold No

(b) Froude No

(c) Weber No

(d) Mach No

S8 9 Ud WM 9 & 3JUrd Dl
$el WMl @ |

(31) XAfes A

(@) wrss g1

(W) d9} &

(]) #% "

The side slope in a Cipolleti weir is
(a1 H:3V
(b)ITH:5V
(c)IH:4V
(d1H:2V
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10.

OR (3721d)

Determine difference in the elevation between the
water surface in the two tanks which are connected
by a horizontal pipe of diameter 30 cm. and length
400 meters. The rate of flow of water through pipe
18 300 liter/Sec. take value of f=0.008

gl Bl ¥ Ul & Ade &I X Ad dR
gfe 4 S ve dfaw ursy foraer @
30 9o AT od1g 400 Hex & A Si<l TS
21 9r$y & Ul & ydE &' <) 300 <flex/Jo
21 T 919 0.008 of |

What do you mean by most efficient section in
open channel flow. Find the condition for most
efficient rectangular section of a channel.

ol yare d &l d9a & waiftre wem
AU Bl bl AN | fHdl raarerR
A9 & \aifs G&H YT dIc g
@1 od =TT BN |

OR (312141)

Explain the working principle of a reciprocating
pump with suitable diagram.

INMNSET vy & wrd w1 & Rigid i
oA g1 |Hsy |
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10.

OR (3121a1)

Determine difference in the elevation between the
water surface in the two tanks which are connected
by a horizontal pipe of diameter 30 cm. and length
400 meters. The rate of flow of water through pipe
1s 300 liter/Sec. take value of f=0.008
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What do you mean by most efficient section in
open channel flow. Find the condition for most
efficient rectangular section of a channel.

gol yare H el d9d & gailte wem
YT Bl bl WAC | fHdl ArgaradR
9 & \aifrs & U HIc B
@ Ad =TT DY |

OR (3121a1)

Explain the working principle of a reciprocating
pump with suitable diagram.

M feT vg & o w1 & Rigia ol
o3 gRT |9y |
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